Suppose that C, X, k. solve the one-sector growth problem

max Zioﬂt logc,
s.t. ¢, + X = f(k.,1)

kt+1 — (1_5_)kt + X
k0:k0
C., X, K >0.

Then c,,C,,, X, X, K, solve the two-sector growth problem

max Zioﬂt log f(c,,C,,)
s.t. ¢, + X, =K
C, + X, =1
kt+1 = (1_5)kt + f (X1t9X2t)
K = lz0
Clt9C2t9X1t7X1t9kt >0
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Suppose C,,C,,, X, X, K, solve the two-sector growth problem

max Zioﬂt log f(c,.C,,)
s.t. ¢, + X, =K,
Cy + X, =1
kt+1 = (1_5)kt + f (X1t9X2t)
ko = lz0
Cltacztvxltaxltvkt > 0.

Then c,, X,k solve the one-sector growth problem

max Y~ f'logg,
s.t. ¢, + %X, = f(k,1)
kt+1 :(1_5_)kt + X
ko :ko
C., X,k >0



where

C = f(Cltaczt)
X = f(Xlt’th)'



